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smeinteract |HT-1 (Ch.9 Working with linear expressions)

Cut out the nine puzzle pieces below.

Arrange the pieces to form a 3 by 3 square so that
any pair of adjacent expressions are equivalent.

For example, the pairs of expressions in the positions
shown should be equivalent.

Puzzle pieces

L(6a—8) 9a _, 20a + 40
3 10
N RS S Sy
(\®) N \O
G e L e F
e w| | THE l
—|D~ > 3 —_ \O\/
9
(9+1)¥ P9 —9 (¥ —v)¢
2(a+2) 10a 5 10a 4
2
T o5 | 2|| - =
< + | N l\-)Q + @ +
L i C
[ . _|__
8T + V1T vy — 91 LTS
5a -5 8a+6 2(12 - 3a)
5 2
- Py
o0 S @)
ORI ORI FEOR
o P e N
c A
(G -9)3 71 + 18 T+

ynBiorsyrewdwsmmm 9oz 393(04d SO11BWSYIR [00YDS 3YL & I-_.I.H



